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To retard “the setting process of cement 1. WFiE &7 QT whvar @ 4 o & BR
following material is added - 1 9 3§ o Rl @ e i 29

(1) Carbon 1) B

(2) Germanium ) SRR

(3) Gypsum 3) R

(4) Alumina @) Q?jﬁFlT
How many grams of cation exchangerinthe 2. 0.NCaCl, & 1dm®¥d 9§ Ca®* ag=i &1
§+ for;n ;Ie;eqfuigecll 1\;‘_0 éeléairite T(ljla2+ ior}s T ¢ 2w g § e T A

om m> of 0. aCl;? The static

5 :

exchange capacity in 0.IN CaCl; is 4.5 mg IQIFTaS 1 STereawar 8Fft? 0.IN CaCly ¥
equivalent, wifde T e 4.5 mg geuis B

(1) 22.22¢ @M 2222g

(3) 1575¢ 3) 1575¢

@ 30.70¢ @) 30.70¢
Arrange the following canonical structuresin =~ 3. Fr=ifafed oA WR=mRl & S99
decreasing order of stability - W & T B9 § Zaied BT —

ok o oz G- o*
CH, =CH~C-H&CH} ~CH = C-Hé$ CH] ~CH=CH CH, =c1{-cl-Heca§ -—’CH=(I2—H<—>:CH;—CH=CII-I
o (I (1) @ () (Im)

1) I>0I>1 1) H>T>I

2 I>I>1I @ I-I>1

3 I>II>II 3 I-0O>1

@ M>>I @) M>>I
Which of the following is the correct 4. TfaReg & ¥ o9 9 W8 RFRE
Arrhenius equation? DR 87

(1) K= Aefa/RT (1) K= AeFa/RT

2) K= AeBa/T (2) K= AeBT

(3) K= Aef/R (3) K= AeB/R

(4) K= Ae~E/RT () K = Ae—Fa/RT
Which of the following nuclei does not show 5. f=fiRag 1}[ I BH kil ?ﬂﬁﬁ Y FH
spin quantum number I =157 =T I= Y 8] guifar €7~

@ ®c 1) “c

2 “F (2) “F

(3) 31P (3) 31P

@ *s @ 3s
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10.

Error due to faulty construction of a balance
is -

(1) environmental error

(2) instrumental error

(3) random error

(4) operator error

In the case of aniline Amax occurs at 280 mp
and in it acidic solution, Amax occurs at
203 m. This shift is called as -

(1) Bathochromic shift

(2) Hypsochromic shift

(3) Hyperchromic shift

(4) Hypochromic shift

In Thin Layer Chromatography (TLC), Rf

retardation factor is the ratio of -

(1) distance moved by substance from base line
distance moved by solvent from base line

(2) distance moved by solvent from base line
distance moved by substance from base line

(3) distance not moved by substance from base line
distance moved by solvent from base line

(4) distance not moved by solvent from base line
distance moved by substance from base line

The mobile phase (carrier gas) in gas liquid
chromatography is —

(1) helium

(2) oxygen

(3) ammonia

(4) carbon dioxide

Which of the following set consist of only
electrophiles?

(1) BF;, HS

(2) CI*,NO3

(3) BF;,N%0,

(4) HS™,C,H50~

6.

9.

10.

fedl gen & FRYEr T ¥ sww Fe
14
(1) TR Fe
(2) SusRtiY Ffe
@) IgEs e
@ uRaweE Ffe
el @ WeW #, 280 mp T Amax WIS
giar §1 9 S99 Ty fae™ T ¥, 203 mp
R Amax T BT & | I8 Rioe FEeman &—
(1) “uihs Roe
(2) femithE R
(3) TRTEHIHT R
4) TEUBIHE Rge
qeiell R gviei@s (TLC) ¥, Rf #&9 0id
-
(1) R Y & e @ 9ed @ g

ST 1 ¥ e @ a9 9 gl

(2) R ¥ < farm & T gl
AR Y W uerRf & 9o A gl

(3) e Yo 9 werRf @ T AR
MR Yl ¥ Reias & 9w A gl

(4) IR @ ¥ RAeEs ® T 5 B g0
IER e ¥ SR & 96 @ g

N — gy 9of oxw # wfoeie wrewen
(@GR i) exft @ -

) Bfw

(2) sifqeieE

(3) M

@ HET S8 Sfaass
frafalRea 4 @ &9 9 =g § D
et 87 '

(1) BF;, HS™

(2) Cl*,NO;

(3) BF;,N®0,

(4) HS™,C,H;0"

Page 3 of 32




11. Bakelite is a polymer of - 11. SBHET TP LR T -
(1) Phenol and formaldehyde (1) $HE v DrifcsaEs B
(2) Melamine and formaldehyde (2) HORTST U4 PHfCSEISS BT
(3) Urea and formaldehyde 3) ;I\ﬁrq-; T4 BHfesEES @1
(4) Ethylene glycol and phthalic acid (@) i @i v e e @
12. The electronic configuration of Gadolinium 12. <SG ¥F (Z = 64) &1 FodEiP o™
(Z = 64) can be written as - foren <1 w@ar & —
(1) [Xe] 4f 542 65! (1) [Xe] 4f7 5d° 6s!
(@) [Xe] 4f7 5d! 6s? (2) [Xe] 4f7 5d" 652
(3) [Xe] 4f 5d° 652 3) [Xe] 4f% 5d° 652
(4) [Xe] 4f 65 6p* 4) [Xe] 41 652 6p!
13. Ionic mobility at higher concentration does 13. SRR Wigdl W IJAES TR
not depends on the following factor — Freifafag 4 9 59 oRe @ ik T8l
BT 87
(1) Asymmetry effect (1) FFHEaT 9Ed
(2) Viscous effect (2) T YN
(3) Electrophoretic effect @) e FOT HeerT THT
(4) Transparency effect @) uReRfar waE
14, Correct increasing order of pKa value of 14. FrfoiRea wEifdafes sval © pKa a9
following carboxylic acids is - BT ggal P & —
M CH,—CH,—CI;I—COOH () CH,—CH,-CH—COOH
|
Cl Cl
(I CH:,—C'PII—CHZCOOH an CHa—ClnlI—CHZCOOH
c 1
() C}llz —CH,~-CH, - COOH () CH, — CH, - CH, — COOH
]
Cl Cl
(1) I<O<II (1) I<I<IO '
2) Il<I<I (2) MI<O<I
(3) I<<I (3) I<Ii<I
@ I<I<IO @4 O<I<Il
15. Select the correct statemnent - 15. <& FIF P AT BT —
(1) NHj is a linear molecule: (1) NH;U& V&9 o] & |
(2) H»0 is a octahedral molecule. () H0 U6 I<Habyg 3] 2
(3) CIFs.is a T shaped molecule. (3) CIF;3 el 3413?% T & &8 2]
(@) SFe is a tetrahedral molecule. (4) ‘SF¢ Y% TPaBIA AT =1
03- Page 4 of 32
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16.

17.

18.

19.

20.

Which of the following compound exhibits  16.

intra molecular hydrogen bonding?
(1) HF
(2) H0
(3) NH3
OH

QX
CO0H

The formula of 6 — Hydroxyheptanal is - 17.
(1) CH; CH (CHO) CH2 CH: CH: OH
(2) CH; - CH (OH) CH2 CH; CH2 CH»
CHO
(3) CH; CH: CH (OH) CH; CH; CHO
(4) CH; CH CHO CH; CH, CH, OH
A redox reaction in a cell is spontaneousina  18.
given direction, if —
(1) EMF is zero
(2) EMF is negative
(3) EMF is positive
(4) Spontaneity does not depend upon
EMF

The hybridisation in XeFs, XeFs and XeF. 19,
respectively are -

) sp’d sp’, sp
(2) sp’d? sp’d, sp?
(3 sp°d?, sp?, sp?
4) sp°d, sp’d?, sp’d
The reaction - 20.
CH, - CH=CH -CH, +HBr - CH, -CH, -CH - CH,
Be
is an example of -
(1) Nucleophilic addition reaction
(2) Electrophilic addition reaction
(3) Free radical substitution reaction

(4) Electrophilic substitution reaction

sEiferfe & & B A1 A e e
B e geliar 87
(1) HF
(2) H20
(3) NH;
OH

QX
COOH

6 - EERldlTCd B G & —
(1) CH;3 CH (CHO) CH; CH; CH; OH
(2) CHs - CH (OH) CH; CH, CH» CH:
CHO

(3) CH3 CH, CH (OH) CH, CH; CHO

(4) CH;3; CH CHO CH, CH, CH; OH

T e 9d A e w8 Rem &
|a: yafdd B 8, afe —

(1) faga ams 97 TI ©

(2) e ams 99 w=ones &

@) fga aew I oA ©

@ o yafdiar faE@a ae® 99 ) ik
XeFs, XeFs g XeF> H HavoT %A & —

1) sp’®, sp’, sp
2) sp’d spd, sp®
(3) sp’d? sp?, sp?
4) sp’d®, sp® &, sp’d
Sshar —
CH, - CH=CH-CH, +HBr ->CH, -CH, -CI—II -CH,
Br
% IRV © —
Q) HEEET IRT e
(2) TOEEAEE ANt A
() YaT e uforemas sifdfhar
@) SoEEE uReus sk
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21. The variance of a set of data is 144, then the 21. 3fiHS! ® TP GH= BT TR 144 €, @
standard deviation of the data is - T qlime] P 9FF fOgeq & —
I 32 1 32
@ 12 2) 12
() 44 (3) 44
@ 72 4 72 v
22. The correct decreasing order of stability of 22. Y& Haidl & ®NUE €T W& Tcal Ha
free radicals is - g -
® o ® .
CH ;- ?— CH ;> CH 3~ CH,>CH 3~ CH-CH, >CH, CH ;- ?— CH3>CH ;- CH,>CH - CH-CH,; >CH,
@ ¢ : o @ @ . o
CH,; - €~ CH, >CH, - CH - CH, > CH, -CH, >Cil, CH, - C- CH, > CH, ~ CH~CH, > CH, -CH, >CH,
@ , _ c, @ _ _ o,
CH; > CH, ~ CH, > CH, - CH-CH, > CH; ~C-CH, CH, > CH,- CH,>CH, - CH~CH, > CH:,—(.!—CH:,
@ o . . @ . .
CHy > CH, - € ~CH, >CH, ~CH-~ CH, >CH, -CH, CH, > CH, - C ~CH, >CH, -CE- CH, »CH,-CH,
23. Disinfection of water removes - 23. Siol &1 [9¥HAYT Bl & —
(1) Pathogenic bacteria from water (1) o | oS 9T
(2) Salts from water (2) Siet ¥ @
(3) COz from water (3) W ¥ CO,
(4) Hardness from water @) v ¥ HoRar
24. Identify the reaction order from rate constant 24, I fRRi® k=2.3x10~5Lmol s~ 19
k=2.3% 1075 Lmol s~ - SffpaT Hife 1 yga BT —
(1) First order (1) %W Hife
(2) Second order (2) g =aife
(3) Pseudo order (3) wa Bife
(4) Zero order @) T FIfE
25. AU® of combustion of methane is 25. ¥ & T8 & oY AU® @& 99
—X kJ mol™. The value of A H® is - X kI mol 8| S9& R AH® @1 WM
BINT—
(1) = AU® M = AU®
(2 > AU® (2 > AU®
(3 < AU® 3 < aAUu®
@ =0 @ =0
03 - Page 6 of 32
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Halogenation of methane in the presence of
sunlight is a -

(1) Free radical substitution

(2) Electrophilic addition

(3) Nucleophitic substitution

(4) Elimination reaction

Which of the following polymer is obtained
by heating caprolactum with water at high
temperature?

(1) Nylon-6

(2) Nylon-6,6

(3) Bakelite

(4) Polyethylene

Calculate the Amax in the ultraviolet

spectrum of 2, 4 hexadiene -
(1) 200mp
(2) 183 mp
(3 227 mp
4 520mp

The spraying reagent used for separation of

amino acids in paper chromatography -

(1) Conc. HCI

(2) NaCl solution

(3) Ninhydrin solution
(4) NaOH solution

The name of sodium

hexametaphosphate is -
(1) Calgon

(2) Hypo

(3) Alum

(4) Zeolite

commercial

26.

27.

28.

29.

30.

W & uew H OSuRAT HOWRE @I
AT IR § —

(1) i qeicp FioRITgs

(2) SoEENEEl AT

3) TSEE TR

@) facus siishai v

pUIFSH P 9od UM TR Od & ARy
™ P § NEfaRag § § S 9g9®
WISl BT 87

(1) "rEe - 6

(2) IIEdE — 6,6

(3) d@eEe

@) dreieediel ©

2,4 — SHFATSIESS & RIS WIeH § Amax
P IO FIY — ’

(1) 200 mp

(2) 183 mu .

(3 227mp K

@ 520mp
IR RIS # TRET STl B Gefeehxol
% fom ugga wERT sifroHe (spraying
reagent) g -

(1) «% HC1

(2) NaCl fde=

(3) FeeEfgT fdemm

(4) NaOH faerr=

TifeT TRIFCSTHIEDE & ARG ™
T -

(1) FermE

2) ==

(3) TeH

@ feiemEe

. 26.
28,
29.
30.
03- %
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31. According to Schrodinger equation the 31. SRR ¥HGRY & AR To g diaw
energy of a particle in a one dimensional box ¥ TP B B Sl Bl § —
is -
(1) Continuous (1) =<
(2) Quantized 2) wr<iga
(3) Proportional (3) wugus ..
(4) Independent @ e
32. According to Aufbau principle new electron 32. 3ffwars; Rigra & TR Tl Ay H
of any atom goes to that energy level which T M Tl Selgeld Sl B o &R H
will have - W 2, foreer g8 —
; (1) min (n +1) values (1) =9 (n+1) 99
(2) max (n+1) values (2) SIf¥Ead (n+1) 99
(3) max value of n (3) SIRBaH n BT 9N
(4) min value of I () T 1 BT A ¢
33. The correct formula for 33. CTNHMTHETAIRSIREe () FEARES BT
tetraammineaquachloridocobalt (IIT) e 9T E -
chloride is - .
(1) [Co(NHs)4 (H20)CI] Ci2 (1) [Co(NH3)4 (H20)CI] Cl2
(2) [Co(NH3)4 (H20)3] Cl3 (2) [Co(NH3)4 (H20)3] Cls
(3) [Co(NH3); (H20)3] NH; (3) [Co(NH3)s (H20)3] NH3
@) [Co(NH3)4 CLz]C1 (4) [Co(NHs)4 C12]C1
34. dil. OH" 34. TJ0H;
CH,CHO + CH,COCH;—x—> Products CH,CHO + CH,COCH,—5—>
In the above reaction, how many aldol SwRga sifsar § fFaa Tedia SaE
) products will be formed? FI?
@ 2 1 2
) 4 2 4
€I 35
@ 3 @ 3
35. Which of the following gases are main 35. Tfarag ¥ 9 ®H—d 9 s g9t §
contributor to acid rain? T ArER) 87
(1) COzand CO (1) CO, WECO
) SOz and CO, 2) SO. TG CO,
(3) SO2and N20 (3) SO: TWN:0
(4) SO:and NO, (4) SO, TG NO;
03.- Page 8 of 32




36.

37.

38.

39.

40.

Identify the correctly matched name of
ligand -

(i} NHs -~ Amino

(i) CO — Carbonyl

(ii%) S03~ — Sulphato

(iv) NOJ — Nitronium

(1) (), (), (iid)

(2) @), (D), (v

(3) (i), (i), Gv)

4) (D), Gid), (iv)

Stereoisomers formed due to restricted
rotation about single bonds with high
rotational barriers are called as -

(1) Tautomers

(2) Enantiomers

(3) Atropisomers

(4) Diastereomers

......... is the process of coating Fe or steel
with a zinc coating.

(1) Tinning

(2) Galvanization

(3) Hot dipping in molten Fe

(4) Annealing

The monomers of PET polymer are -
(1) ethylene glycol and chloroprene
(2) terephthalic acid and acryfonitrile
(3) ethylene glycol and terephthalic acid
(4) terephthalic acid and phenol

The process of passing mobile phase through
a chromatography column is called as -
(1) flushing
(2) washing
3
C))

elution
diffusion

36.

37.

38.

39.

40,

forros & W& e 9 9 91 ghe —

(i) NH;- U

() CO - FEiTA

(iii) SO3~ — Al

(iv) NOF —TEgI+a

(1) @), (i), (iii)

(2) @@, (i), Gv)

3 (), (iii), Gv)

@ @, (ii), (v)
g & $R 7 I e aHagd
FHEATT & —

1) FeEEar

) wfafe= S0 FHEEdr

(3) TR

@) swfafet Bifew wwmaad
AR a7 R W R P U Te B uihar

(2) reAHERT

(3) famer og 4 7 feft

(4) e (Annealing)

PET 9801% & UHaid & —

(1) TR Tegdid SR TR

() e e R WUhaMggEa
(3) TRFIA TasHe iR Svuifers sl
@) eifers o &R wHiA

gof o H dfad 3§ Tfaeie waer &
Haifed & Bl WihaT HEarl § —

1) eI

(2) =TT

3) [eres

@) faeRo

Page 9 of 32




41.

42,

43.

45.

Which of the following is not a non point  41.
source of water pollution?

(1) Agricultural waste runoff

(2) Acid rain

(3) Storm water drainage

(4 Municipal waste discharge

CeH;CHO+(CH,C0),0— 00, 42,

CsH; —~-CH=CH-COOH
above reaction is called as -
(1) Aldol condensation
(2) Stobbe condensation
(3) Perkin reaction
(4) Wittig reaction
Which of the following Annulene is anti 43,
aromatic in normal condition?
(1) [18] - Annulene
@ f14] — Anmulene
(3) [4] — Annulene
(4) [10] - Annulene

The bond strength in 0, , 07 and O3 species  44.
follows the order -

) 0; <0,<0f

(2) 0; <03 <0,

3) 03 <0, <05

4 0,<0f <03
How much electricity in terms of Faraday is  45.

required to produce 40.0 g of Al from molten
AlO3?

frr=ifeRaa & 9 S 5at v 1 &g
i g 87

(1) BN R suars

(2) arct aut

@) i oo P

4) TRUIerdT Iulde fJusy
C¢H;CHO+ (CH,C0),0— 200N
C¢H; —CH=CH-COOH
SURIGT AT Pearh & —

(1) Ucsiel H@g= A

() i Fe=A

3) ufrs sifafssar

4) fafesr srfssar
frfoRa ¥ ¥ 89 @ wEe 9w
GRReIfT # Yot Wifew &7

(1) [18] - Y=Eet

(2) [14] - Tgeir

@3) [4]- Tl

@ [10] - Tgeh

0,,0% 9 0; WiEls & €8 qmed o7 Ho
BT —

I 0; <0,<0F

(2) 0; <0f <0,

(3) 0f <0,<0;

4 0,<0f <03
T ALOs ¥ 40.0 T8 Al 5o &% B
forr oo @ wsl H frad fEm @
JMETIHAT BRI?

(1 844F (1) 844F

(2) 244F (2) 244F

(3 2.22F (3 2.22F

(4) 444F 4) 444F

46. CrO% is coloured due to - 46. Cr0%~ ¥ 9 &1 FRU & —

(1) L - M charge transfer (1) L — M 31d9 TR
(2) M - L charge transfer (2) M - L 799 w=INTFRoT
(3) p — de transition (3) p—de HFHHom

(4) s — d e transition 4) s - de” HmaT

03.- Page 10 of 32




47. A water sample has the following analysis 47. U STl & 1 &I Fforay fageryor & —
Mg(HCOs)2 = 83 mg/L, Ca(HCO3); = 134 Mg(HCOs)2 = 83 mg/L,, Ca(HCO3); = 134
mg/L, CaSOq4 = 124 mg/L, MgCl> = 84 mg/L, mg/L, CaSO4 = 124 mg/L, MgCl, = 84 mg/L,
CaCl; = 94 mg/L, NaCl = 50 mg/L calculate CaClz = 94 mg/L, NaCl = 50 mg/L 3= 9
the temporary and permanent hardness in WIRY HERAT B TOET ppm § PN —
ppm -

(1) 139.5 ppm, 264.3 Ppm (1) 139.5 ppm, 264.3 ppm
(2) 175.9 ppm, 227.3 ppm (2) 175.9 ppm, 227.3 ppm
(3) 207 ppm, 382 ppm (3) 207 ppm, 382 ppm

(4) 229.5 ppm, 264.3 ppm (4) 229.9 ppm, 264.3 ppm

48. Which of the following statement is correct 48. =Iferiad § @ B9 —T H2H HoR Wl B

about hard water? forg ug &7 '

(1) Permanent hardness can be removed (1) =R HoRal B S T fopar
by boiling. ST 9pal & |

2) Permanent hardness is known as (2) R FORTT BT TehAST HORAT
alkaline hardness. PEd £

(3) Permanent hardness is due to the (3) @ wIRar BRERA a‘% PR
presence of bicarbonates of calcium. B SuRAfT § B 2

(4) Permanent hardness is known as non @) wrll BSRAT Bl A Todelrgd
alkaline hardness. FHORAT PEd E | E

49. Identify the comrect R/S configuration for 49. & 7§ &= @ fod w8 R/S =g &
given structure - YEAM PSS —

COOH COOH
H—T1—0H H———OH
H——OH H—F+—OH

COCH COOH

(1) 2R-38 (1) 2R-3S
@ 2R-3R @ 2R-3R
(3) 25-38 (3) 25-38
(4) 2R-4S (4) 2R -4S

50. What will be the theoretical number of 50. T{IF, HHET SEAFISE o  FebY
vibrational degree of freedom in benzene, SRdiraRs ¥ Bufte Wdadr B B &
carbon dioxide respectively? Yeifas @ paern enff —

(1 12,4,3 M 12,4,3

(2) 3,4,12 () 3,4,12

(3) 30,4,3 (3 30,4,3

4 30,3,3 @ 30,3,3
03- Page 11 of 32
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51. Following characteristic absorption peaks 51. UT® BEMEG ARG & Rad Wagd H
héve been observed in the infrared spectrum frafafag  efemftie sy SfEs
of an organic compound - T
(i) Strongband at 3300 cm? (i) 9 98 3300 cm™
(i) Band at2996 cm™ (i) 2996 cm! R d€
(lil) Band at 2920 cm’! (111) 2020 Cm—l R a@r
. -1
(iv) Band at 1050 cm (iv) 1050 cm! TR ¥
Identify the compound- T B mﬁq_
(;) (C:ES gg C%HO (1) CHsCO CH;
(3) oo (2) CHsCH,— CHO
(4) CH3 ;H ‘OH ’ (3) CH;-0-CHs
4 CH;CH: ‘4) CHs; CH, OH
52. How many stereoisomers are possible for 52. 3 - §MI -2 — ¥ & ol o= fBfaw
3 — bromo — 2 - butanol? qAGEE 9T 87
@ 6 1 6
) 4 @) 4
3 8 3 8
-~ 4) 10 @ 10
53. The complex ions [Co(NHs)s NO2J** and 53. [Co(NH3)s NO2J** 9 [Co(NH3)s ONOJ*
[Co(NH3)s ONOJ* are example of - g I SERN § —
(1) Geometrical isomers (1) SR gHEgadr &1
(2) Linkage isomers (2) SEFIT GHIGIGAT BT
(3) Ionisation isomers (3) AEE FHIGIEIAl &1
(4) Coordination isomers @) STESHAS SHEgadr T
54. Which of the following ion is paramagnetic? 54. TFFARINGG 4 ¥ SN W AR ATT_HH
27
M La* (1) La*
@ Lu* ) Lu* ‘
@ Yo @) Yv*
@) Sm* 4) Sm®™
85. A first order reaction is found to have arate 55, WM Pifc & & AT & fod 97 Reris
constant k = 5.5 X 107 5™, Find the half k &7 99 5.5 X% 10‘14Is‘1 R AT §9
life of the reaction - T & Ry SRy & 7o Hifg —
(@) 450%10*s @) 450% 10%s
(2) 345%x10%s ) 345x10% s
3 1.26x107s (3 1.26x10%s
@ 10.25x10%s @) 1025x 1085
03- Page 12 of 32




56. For a given volume of an extracting liquidthe  56.
extraction is more efficient if -
(1) itis used in single operation

(2) it is used in single installment with
stirring

(3 it is mixed slowly in single
installment

(4) itis used in a number of installment

57. Which of the following order is incorrect 57,
with regard to ionic radii?
(1) Lif<Na*<K*
(2) Na*>Mg? > AP
3) C**>c*>Crt
(40 K*<Nat<Li*
58. Inthe given reaction - 58.

3

CH, CH, CH
@*Br NaNH,, NH @NH2+ @
S3c NH,

The important intermediate formed is -
(1) Benzyne
(2) Carbocation
(3) Arenium ion
(4) Carbene

59. The ST unit of molar conductivity is — 59.
1) Sm?mol?
(2) S m?mol™?!
(3) Sm™ mol!
4) S m?mol™?
60. Magnitude of Vander Waal’s forces increases 60,
with the following -
(1) no. of ¢ in an atom or molecule
increases

(2) no. of & in an atom or molecule
decreases

(3) molecular size decreases

(4) increase in temperature

faciros frspior 59 @ Ry R s &
oy forspdor aie <& o &, o9 —
(1) I8 TP & ST H SuANT § @
Sin|

(2) ¥ AT =1 g U & ueshd 4
SUERT § AR S

(3) ¥E & & uSsHA F 8RR — HR e
Gﬂ-a. -

) IT P2 F H ST H a9
aae e @ wed ¥ fefoRea § 9
B T B T Be

(1) Li*<Na*<K*

(2) Na*>Mg* > AP*

3) c>Cc*sort

4 K*<Na*<Li*

9 T Affear # —
CH, CH,

CH,
@fo NaNH,, NH @NH2+©
e NH,

ST dTelT HEYOl AT § —

1) SIS

2) PEEEARS

() WFEE A

@ wEE

A AT P SI AFS T —

1) Sm?Zmol?

(2) S m?mol™?!

(3) Sm mol!

(4) S m? mol™?

JUSare gl & GROMA ¥ =1 & 9T gf
BRil § —

(1) A a7 o] H & @ A 4 gfE
(2) UREIY] AT Y] H e ol G § T
(3) fPaw smeR § FH

@ TuE ¥ g

03- % Page 13 of 32




61. The permanent hardness of water cannot be  61. S &1 IR FORaT B X =& Ay o
removed by — HaT § —
(1) Lime soda process (1) <8F — <IST ufthar gN
(2) Jon exchange process 2) e g gt e’y
(3) Zeolite method (3) fosiicse gihar e/
(4) Boiling @) ST
62. The pattern developed in  paper 62. YR PHSAUW! F Yo+ W fFlaa ulwa
chromatography is called - D HET § —
(1) chroming (1) I
(2) chromation (2)
(3) chromatograph (3) FRETTG
(4) chromatogram @) PRERE
63. In which set of diatomic molecules the bond  63. feTRHIva® rvfsi & v Tqe™ 37 94 Ha
order is 2.57 2587
(1) NO,CN,CN- (1) NO,CN,CN-
(2) 0% ,Ni,CN* (2) 0f Ni,cNt 2
(3 Ni,NO,CN (3) Ni,NO,CN t
(4 03,NO~,CN- @) 0;,NO~,CN- f
64. The exhausted cation exchange column is 64. fHaifee (exhausted) &9 fAffm W=7 @r
regenerated by passing a sofution of ~ YT (regenerated) wee & for) faere
yafed far oar & -
(1) dil. HCI (1) @9 HCl
(2) dil. NaCl (2) T9 NaCl
(3) dil. KOH (3) @ KOH |
(4) dil. NaOH 4) T NaOH "
65. I3 ionis - 65. I3 I —
(1) linear 1) & ,
(2) triangular ) Gorig ;
(3) bent (3) TSI g (%)
(4) tetrahedral @) TgHADT
66. The factors that determine an effective 66. U8 BRG S FWET G H FuiRa T
collision are - g - !
(1) Threshold energy and pressure (1) <8l Hell o2 9
(2) Orientation and temperature (2) R~ T aEE
(3) Volume and steric factors (3) sad aer Bfiw ®RE
(4) Collision frequency, proper @) weee IRy, g AR qem
orientation and activation energy SR S
03-+ Page 14 of 32
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67. @ + (CHs)sC ~Cl f_o(élé Pr(KIuct + HCl

product A will be -

o @,C(CH3)3

CH,CH,CH,—CH,
o g

68. Litharge is -
(1) lead trioxide
(2) lead tetraoxide
(3) lead dioxide
(4) lead monoxide

69. A system is said to be a closed system if it
can exchange with the surroundings —

‘(1) both matter and energy

(2) neither matter nor energy
(3) only energy but not matter
(4) only matter but not energy

70. The < (Tau) values of the methyl protons in
methyl halides are in the order -
(1) CHsF>CH3Cl>CHs Br>CHs1

(2) CH:Cl>CH; F>CH3 Br>CH; 1
(3) CH3I>CHsBr>CHs;Cl>CHsF
(4) CHs3I< CHs Br < CH; F< CH; Cl

71. Zeolite is -
n Hydrated sodium aluminosilicate
(2) Hydrated sodium meta aluminate
(3) Aluminium sulphate
(4) Aluminium hydrogen sulphate

67.
@ +(cH,),C -c1—-—>fg]3 B?z‘q' + HCl

SeqIE A BRIT —

CH
o g

CH,CH,CH,—CH,
o

68. fopiw 28—
(1) oS FEieEs
(2) <IS eERiTaES
(3) oic SEiwEs
@) oS AARITAEsS

69. U for o 95 e e o gHar B
IR I8 gRaw & 9 foFwda s gear
3 _
(1) T TG Soil SF
(2) ¥ df 5@ 71 & S
@) Tw &9, s o1 8
@) Tow 5o, S &l T8l

70. A Eomss! ¥ AR WeN @ 1 (€) Al
BIHA B —
(1) CHsF>CH;Cl>CH;Br>CHs1
(2) CH3Cl>CH3;F>CH; Br>CHs1
(3) CH31>CHsBr>CHs; Cl>CHs.F
(4) CHsI< CH; Br< CH; F< CH; Cl

71. ohelese § —
(1) v oI Wi YgHmiiedbe
(2) wier gad WA el YT
(3) tgffaE aebe
@) Vg TEgeE e

03-
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Which of the following structures is expected  72.

to be more stable and why?
0,N — CH, — CH, — 09, CH; — CH,—0°
(1) O,N—CH, — CH,—0%,dueto —1
effect of — NO, group
(2) O,N —CH, — CH,—0®,due to + I
effect of — NO, group
(3) CHz; — CH,—0%, dueto + I effect of
CHz CH, — group
(4) CH; — CH,—0°, due to — I effect
of CHz — CH, — group

For the process to occur under adiabatic 73.

conditions the correct condition is —
(1) AT=0
(2) AP=0
@) q=0
4 w=0

The following reaction between acetoxyl ion  74.

and (+) trimethyl o phenylethyl ammonium

ion is an example of -

Ph, @ Ph
ACO™ + — NMe,, —_—
o \\\\\ i e; ——>ACO %‘V{e_]_ Me,N
Me H

(1) Walden inversion
(2) Tautomerisation
(3) Allylic transition
(4) Phenylation

.......... is the amount of oxygen required to  75.

oxidize only organic matter in sewage.
(1) Turbidity

(2) BOD

(3) COD

4 DO

frrfoRaa 4 9 99 < dvawr e wml
Faife § eii) w®ii?
0,N — CH, — CH,—0®,CH; — CH,—0®
(1) 0,N - CH, — CH,—0®°,—-NO,
TE @ — 1 W99 & BRI
(2) O,N - CH, — CH,—-0°,-N0,
WE D +1 A & RO
(3) CH; — CH,—0%9,CH; CH, —
TE D +1 799 & BRI
(4) CH; — CH,—0%,CH; — CH, —
WE D — 1 TG B HRY
T&H U5 & SG I Rl # 89 @ ol
wel aRierfy € —
(1) AT=0
(2) AP=0
(3) q=0
@ w=0
e A 9 (+) TEARE o
BceRier SEIffRE e & wey | TS
P afT T SEERTT & —
Ph ® Ph

I
ACO™+ JC—NMe,—3ACO—Crg +Me,N
H\\ A R = e

fae] |

Me
4

(1) d9resT "o 1

(2) TeTTaIEan !

(3) vfafes dmaer !

4) fTeiidor

A & FFE arR! o lfRied o &

(2) 4. 3 SN §
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76.

77,

78.

79.

80.

The time required for the separation of
constituents to from the emulsion is known
as -

(1) steam demulsifications number

(2) saponification number

(3) acid emulsion number

(4) npeutralization number
Trichoderma harzianum is used for -

(1) wasteland reclamation

(2) bioremediation of oil spills

3) Biological control against

phytopathogens

(4) gene transfer and mutation

. Yery low hardness of water is achieved by

using -

(1) Lime soda process

(2} Excess line treatment

3 Iog exchange method

(4) Boiling
The rate constant of a zero order reaction is
0.2 (mol/litre) hour. What will be the initial
concentration of the reactant if after half an
hour its concentration is 0.05 moles/litre?

(1) 0.15 mol/litre

(2) 27.3 molflitre

(3) 0.43 mol/litre

(4) 0.33 mol/litre

The correct otder of decreasing basicity of

amines in aqueous solution is -

(1) (CHs):N > (CHs); NH > CH;-NH;
(2) (CHs); NH > (CH3)sN > CHs-NH;
(3 (CHs): NH > CH; NH2> (CHs)sN

(4) CH3-NH;> (CHz): NH > (CH3)sN

76.

77.

78.

79.

80.

TIERT (SHEIF) & IEIAN TBTHT DI YH BT
7 T G e & —

(1) a9 RursT®

(2) wrgFEveT He

(3) 3T SHCHIHRUT Tl

(@) ST ey

sEeeH BRfarm o SwE far s
2

(1) R 9 & GuR & forg

(2) I RET &1 99 SU=R

(3) UIRY I SHT B W9 R &y

(@) I RIFRYT 3R SeRaed
o H T A woRdl feae w9
T 1 T el 87

(1) s¥ |l ufthan

(2) I¥F oEq SUaR

(3 sz fafrs ufssar

@) e
I Bife o AT &1 37 Remie 0.2
(@ /feR) Tver! § | ffeRe @ gRfe
Higer fberil BRMY afe sl s om e
% 0.05 et /wie} 87

(1) 0.15 915 /7N

(2) 27.3 916 /e

(3) 0.43 AiEt /<ficy

4) 0.33 9 /=lex
Sielg o= # VAT 9 eTRSGaT 9T "ed
o WE B § —

(1) (CHa)sN > (CH3); NH > CHs-NH,

(2) (CHs); NH > (CH3):N > CH;-NH;

(3) (CHs); NH > CH; NH2> (CHa)}sN

(4) CHs;-NH>> (CHs); NH > (CH3)sN

03- <
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i
frafReg & 9 fruer fuevr eifieoH

-81. Which of the following has largest bond 81.
angle? g7 i
H20, NH3, CHy, H2S Hz0, NH3, CHas, H2S |
(1) H:0 1) H0 ;
(2) NHs (2) NHs |
(3) CHa (3) CH ;;
@ HS “4) HS
82. The nontoxic and green solvent among the 82, Tr=ifoilRam # ¥ i fa¥er &k eRa faers
following is - - !
(1) aniline (1) Tereld \
(2) n-hexane (2) n-— RN
(3) benzene 6)) ﬁﬁ'ﬁ'ﬂw
(4) liquified CO; @ =R CO, L
83. The techniques of solvent extraction is also 83. fema®d MHIT B TEND v
called as .......... extraction. frepdor off wEaRT B '
(1) solid — gas @) o9 — 9 ; !
(2) liquid — gas Q) g — 9 :
(3) solid -liquid (3) 39 — 59
@) liquid - liquid @ 79— 79 :
84. Which of the following promotes 84. fr=ioRag & ¥ ®F sl @ gowor #
eutrophication of lakes? afirgiy e 27 i !
(1) Carbonate Q) FEFE 3 ,
(2) Phosphate (2) BiEpe
(3) Chloride @) TNES i
(4) Aluminate @) Tghre i
85. Particular area that is used to collect 85. 498 fa9i &= Wt f a6l oia &7 €UT BE
rainwater and drain runoff - Td el SUEE 3 UgET 3 § —
(1) Pavement area (1) BeU™ &F . f
(2) Catchment area () @ade (Ge Q:mgﬂf) &
(3) Flocculation area 3 Wﬁw (@ﬁ) &
(4) Surface collection area @) IS HE & :
86. A°mforNaCl, HCl and NaAcare 126.4,425.9 86. NaCl, HCi U§ NaAc & TR A°m 9%
and 91.0 s cm? mol ™! respectively. Calculate 126.4,425.9T4 91,0 s cm? mol ¥ | HAc ®
A° for HAc — oIS A° BT gRBT HifoTg — :
(1) 1190 e mol™ (1) 119.0 s cm? mol™ |
() 127.2 s cm’ mol™ ) 127.2 scm? mol™
(3) 152.6 scm*mol™ (3) 1526 s cm® mol™
(4) 390.5 s cm® mol™ (4) 3905 s cm?mol™
03-3 Page 18 of 32

{



87. The enthalpies of all elements in their 87. T T B Tolcl I AFG Gl
standard states are — BT —
(1) unit 1) sFE
(2) zero Q) T
3) <o 3) <0
(4) different for each element @ T g@ @ RR e B @
'88. Which law governs solvent extraction? 88. @ I fomas fepdor @1 weElerd
AT 87
(1) Charles law Q) =y a1 FEm
(2) Ostwald’s law (2) sicdies @ a9
(3) Nernst distribution law 3) ;éi;h;g fyoer @7 Iy
(4) Beer - Lambert law @) R — = B P

89. Find the median of the given set of 89. MU W fdl & wWEay ¥ wiltgsT w@
numbers - P —
2,6,6,8,4,2,7,9 2,6,6,8,4,2,7,9

) e @M 6
2 8 @ 8
3) 4 3) 4
@ 5 @ 5

90. Which of the following will not show ESR 90. fHfaRed & & »9 ESR Wagr 781 gwiiar

spectra? 8?7
(1) O a) O:
(2) C;Hj (@) C,H:
B3 N2 3) N2
@) Cu?* @ Ccu*

91. If water vapouris assumed tobe aperfect gas, 91. o ar & TS A A7 W 100°C ¢F 1
molar enthalpy change for vaporisation of 1 IN T8 W TP Hd GF D asheer §
mol of water at 1 bar and 100°C is )

41 kJ mol™. Calculate the internal energy AR 41 kT mol™! TR AT | SAfaRp St
change, when 1 mol of water is vaporised at IR B I B, W 1 AT S B
1 bar  pressure  and 100°C. 1 IR 39 U9 100°C R ardiha fHar =g |
(R =8.3 JK! mol™) (R = 8.3 JK~! mot)
(1) 37.904 ki mol™ -
(1) 37.904 kJ mol™!
(2) 12.109 kJ mol™! ~
(2) 12.109 kJ mol?!
(3) 10.230 kJ mol™
(3) 10.230 kJ mol!
4) 52.203 kJ mol™
(4) 52.203 kJ mol™
03-% Page 19 of 32




92.

93.

94,

95.

The rate constant of a reaction at 500K and 92.

700K are 0.02 s™'and 0.07 s respectively.
Calculate the value of Ea.
[Given log% = 0.544]
R= 8.314 JK'mol!
(1) 18230.87J
(2) 11256.21
(3 20255271
@ 2723257

The 7 bonding abilities of the ligands - 93.

CO,CN—,NO*,NH;,NO3 ,P(C4Hs); and
SO3~ in Mossbauer Spectroscopy is as
follows -
(1) CN~ > SO2~ > P(C¢Hs), > NHj
> NOz > NO* > CO
(2) NO*>CO>CN™ > SO%'
> P(CgHs), > NO3 > NHj
(3) NH; > NO; > P(CgHs), > 03~
_ >CN™ >CO0>No*
4) CO>CN~ > NO* > NH; > NOj
> P(C¢Hs), > SO%~

Method. used to determine the order of a 94.

reaction is -
(1) Differential method
(2) Rotation method
(3) Calculus method
(4)- Catalytic method

The standard potential for Daniell cell is 1.1~ 95.

V. Calculate the standard Gibbs energy for
the reaction —
Zn(s) + Cu?*(aq.) = Zn**(aq.) + Cu(s)
(F=96487 C)

(1) - 117.24 kI mol™

(2) —413.35 kJ mol™?

(3) —212.27 kJ mol™!

(4) - 674.72 kI mol™!

o o1™fthaT @ 500K @2 700K W= o
feri® wHEr 0.02s! 9a10.07 s8] Ea &1
TUT PHIFOIT |

0.07

[ T tog 7o = 0.544|

R= 8.314 JK'mol’!
(1) 18230.87
(2) 11256.27
(3) 20255.217
4) 2723251
Araars) WagiAdr 9
C0,CN~,NO*,NH;,NO3 , P (C¢Hs),
T 03~ forost @ 1 9uF &HaT 39 UhR
§_
(1) CN™ > S0% > P(C4Hs), > NH;
> NO3; > NO* > CO
(2) NO* >CO > CN~ >S0%~
> P(CgHs), > NO; >:NHj
(3) NH; > NO3 > P(CgHs); > S0%~
> CN~ > CO > NO*
(4) CO>CN™ > NO* >JNH3 > NO3
> P(CgHs)z > S0%~
SR & P BT ST IR H wEd Ay
3 -
(1) s@@med [l
@) T R
3) Pee TR
@) SorRs fafr
e 99 & o wme e 1.1V 8
fr=frRad siftiferar & fow a9 s o
B URGT PINTT —
Zn(s) + Cu**(aq.) = Zn**(aq.) + Cu(s)
(F=96487 C)
1) -117.24 kJ mol™
(2) —413.35 kI mol™
(3) —212.27 kI mol?
(4) -674.72 kJ mol™
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96. The concept of stereochemistry is based on-

(1) Molecular orbital theory

(2) Van’t Hoff and Le Bel’s theory
(3) Free radical mechanism

(4) Electrophilic substitution

97. The acid catalysed transformation of a
ketoxime to an N — substituted amides is
known as -

(1) Curtius rearrangement
(2) Beckmann’s rearrangement
(3) Fries rearrangement
(4) Stobbe condensation
98. In CIF;s, chlorine involves -
(1) spd hybridisation
2 §sp3d2 hybridisation
(3) sp® hybridisation
(4) sp® hybridisation

99. Succinic acid was shaken with a mixture of
ether and water. The concentration of acid in
the two layers are as follows (per 10 mL of

solution). The mean value of partition

concinwatery .
———————) will be —
conc.in ether

0.0244 0.071 0.121
0.0046 0.013 0.022

coefficient (K =

in water
in ether
1) 542
(2) 10.03
3 927
4) 15.27

100. Change in Gibb’s free energy is —
(1) AG=AH+TAS
(2) AG=AH-TAS
{3) AG=AHXTAS
‘4) AG=AH+TAR

96.

97.

98.

99.

100.

e I #Y TR ...... TR SRR
1) e Fue Rgra

(2) TIeE% T HN-d &1 Rigra

@) J o fanfafy

@) SATEA TR HenT

TP ST ¥ e N - gfenfi s
# 3 SOIRT IRed+ HedMr & —

(1) Ficaa gAfd=mrg

(2) I gAfdT

(@) IES] Fig-aE

@) i 9

CIF; &, TR &7 & —

(1) sp’d HHIOT

(2) sp’d® HepRoy

(3) sp’ BT

@) sp” |
AIRIP 3T B 2R g Ol & AN B
W 2T (shake) 37 | Q) Rl § a7l &)
sl @Y 10 mL fFem) fB97 uer 9 §1

Wil § Areen

faeReT T[uTi (K = m) B ARG
AT BRI —
W §
FoR A
1) 542
(2) 10.03
3) 9.27
4 1527
s gaa 9wt § uRacs g & -
(1) AG=AH+TAS
(2) AG=AH-TAS
(3) AG=AH x TAS
(4) AG=AH +TAR

0.071
0.013

0.0244
0.0046

0.121
0.022
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101. The deviation from Aufbau Principle can be 101. f=fifag # ¥ frad sifware fgmm @
seen in which of the following? ferreT ST ST ol 87
(1) Vand Ar (1) VaRAr
(2) Cuand Cr (2) CudliRCr
(3) Mn and Fe (3) Mn 3V Fe
4) CoandZn @) CodRZn
102. Hybridisation of sulphur atom in SFs 102. SFs 30 # WehY URAN] B THOT Iawell
molecule is - 3 —
1) sp’ ) sp®
(2) sp’d () spid
(3) dsp’® (3) dsp®
@) sp’d® @) sp’d®
103. The electron affinity and ionization potential 103, FARIT URAY] & SAided AT T AT
of chlorine atom is -4.0 eV and 13.0 eV RT BHI - 4.0V T 13.0 6V ¥ | o
respectively. The electronegativity of
chlorine is - farega oncAeT § —
(1) 10.53 (1) 10.53
(2) 12.29 2 1229
(3) 3.03 3 3.03
@ 8.16 4) 8.16
104. Fuel obtained from plastic waste contains no 104, TTRed JURIE | WG e i1 AR fea
W 979 S R qren BIaT ©, HeEerdl
lead and high octane rating is called as - 3 _
(1) Catalytic fuel (1) SERF g
(2) Plastic fuel (2) =iRe® o
(3) Green fuel (3) sRa =
(4) Reformed fuel (@) Rorts o=
105. Photochemical smog is also known as - 105. VR THRME gH-DIERT HEATT § —
(1) oxidizing smog (1) SioRD gD
(2) reducing smog . (2) STAEF FA—PIET
(3) chemical smog (3) NEME BT
{(4) photolytic smog (@) TETH IS AP
106. Which of the following is hexadentate 106. FifeiRaa § & P9 A1 YCEgH foFvs &7
ligand? Sl redTdie 79
(1) Ethylenediaminetriacetato chloride W
. - ) TRriFeEwEReEigRes tRis
(2) Ethylenediaminetetraacetic acid
(3) 1, 10 — Phenanthroline () 1, 10 - BRI
(4) Acetyl acetanato (@) TRifes gHiiesel
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107. Calculate the work done by the system when 107. g 300K WX &<l amgel 349 & 2 A
2 mol of an ideal gas expand from 0.01 m? to I w9 ¥ Frafg 4 0.01 m® ¥ 0.1 m®
0.1 m® at 300K isothermally into a % uaRd B9 & of Mem g o
vacuum - BT P O B —

(1) Zero @ T

2) 223k @ 2231

3) 593Kk @) 5.93kJ

@) 1010k @ 10.10K ‘

108. Which of the following is the most significant 108. YRIAG TUeplEld & Zod Wagr o
peak in the mass spectra of primary FrafelRag & 3 o9 91 wite 9rpke
alcohols? Shae (fis) 87

(1) Oxonium ion (1) sifeats e

(2) Tropylium cation (2) SUERRE T

(3) Hydroxy tropylium cation (3) TS SR R
(4) Carbonium ion @) SEEET S

109. Which of the following is a non-renewable 109. F=foiRag § ¥ D—w o &1 -

energy resource? BN AR 87
(1) Coal (1) DR B
(2) Solar energy @) WR o b
(3) Geothermal energy @) Yo Sl
(4) Tidal energy @) =R ol

110. Which of the following jons has zero crystal 110, f=faRag § § 5w T o srewaa™
field stabilization energy in octahedral &7 A v a3 wRligRer ot Bt
field? 27

(1) Cr’* (High spin) (1) Cr**(STa W)
(2) Co®** (Low spin) @) Co? (=1 b))
(3) Fe** (Low spin) @) Fe* (e vsm)
(4) Fe’* (High spin) @) Fe* (353 T
111. Which of the following transition elements 111. r=faRad d ¥ 9 |1 FFH90T da@ |GaQ
shows maximum number of oxidation states? 3T e § sifaRfaRoT TRt Torfar &7
(1) Hg (1) Hg
@ Os @) Os
3G Ir @ Ir
@ An 4) Au
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112. The partition ratio in gas chromatography is -

@ K = Amount of solute in the gas phase
" Amount of solute in the liguid phase

(2) K =Amount of solute in the gas phase
~ Amount of solute in the liquid phase

(3) K =Amount of solute in the gas phase
x Amount of solute in the liquid
phase

(4) K = Amount of solute in the liquid phase
Amount of solute in the gas phase

113. The potential of the standard hydrogen
electrode is assigned the value —

m1
2) 0
3 2
@ -1
114. For all spontaneous processes the total
entropy change (ASiowa) must be —
(I) equal to zero
(2) negative
(3) positive
(4) unpredictable
115. In stereochemistry, the prefixes Z and E
represent respectively -
(1) Zeigler and Erhard
(2) Zwitter and Erythro
(3) Zircona and Erythro

(4) Zusammen and Entgegen

116. Which of the following alkene is the most
stable?
(1) (CH32C=CH:
(2) CH;-CH=CHz
(3) (CH3)2 C=C(CHs)2
4) CHy=CH

112. 9 B § e U © —

) K = A9 uiaeen # ey @ =5
T g ureeen # fiem @y A

(2) K= ygen § e & 4Em —
o UTgRT § fOol &) "

(3) K =9 umgen § e @ 9= X
®q e ¥ ool oY AEn

@ K = % wiaeen ¥ g o 4
T3 e # e @ aw

113. A% EESINH Sodcls ® faWd BT A BIdm
T -
M 1
2 0
3 2
@ ~1
114. o W yakia wFA & Y ga Tl
IR (ASioar) BT & —
(1) I[[M & |
(2) FUIH
) gD
4) TR
115. 3w <o ¥, suert Z iR E sae: g
S
(1) SiFTeR 3R F¥Ere
(2) WeR 3R ¥l
(3) SR iR s8R
(4) A SR TR
116. F=fRed § 9 o9 A Yepia F99 IS
®IAT 37
(1) (CH3)C=CHs
(2) CH3-CH=CH>
(3) (CH3)2:C=C (CHz)
(4) CH,=CH:
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117.  Which species of the following is used to 117. o9 WagarRl ¥ &= = @ 9o
bombard with the sample for which mass iBRI & foir f=foRea § ¥ a9 @
spectroscopy has been performed? el &1 33T foar orar 27 i

(1) Alpha particles (1) 3BT T
(2) Neutron @) =EH

(3) Electrons @) ToaH
(4) Protons @ w9

118. Blue baby syndrome disease found in infants 118. YT 5A H oo, % et | 9= A

is due to excessive ......... in drinking water. ] 941 RISH 9T TR ST 21
(1) colour @ T
(2) sulphate ‘ 2) GoBe
(3) carbonate (3) FEFE
(4) nitrate @) :ﬂs—gxe
119. Fluoride ion make the enamel on teeth much 119. YIRS AOT Ifdl & I8 &
harder by converting - IRaes ¥ 3iftie wer B AT & —
(1) hydroxyapatite into fluoroapatite (1) TESRITICEE ¥ TgeiRIgiese
(2) hydroxyapatite into fluorosulphate (2) SRSEHTICISE ¥ FRiRITeHe
(3) fluoroapatite into hydroxyapatite 3) ‘@m q ERSiRIeNEET
(4) fluoroapatite into fluorosulphate @) ﬁm@ I t@aﬁ‘vﬁ'ﬂ?@‘d
120. Four metal are given below — 120. < AR O 9§ T R -
Zn, Cu, Mg and Al Zn, Cu, Mg 3 Al
T ’ SuRed A ¥ B W g g u1g & e
Which one of the above metal can not be used St TIE B WY SRR TS S
as a sacrificial anode with respect to other? oot 7
(1) Zinc ) §®
(2) Copper (2) B
(3) Magnesium (3) TRy
(4) Aluminium @) Wﬁm

121. Which crop group out of the following 121. fFr=ifafea wua wHel § ¥ F=-A
crop/crops that can not be used for biofuel A/ BEe BT YA T U SET P
production? fore <& fosar &1 wepar &7

(1) Jatropha, Sugarcane, Palm (1) W%l T, 1€
(2) Lentil, Sugarbeet, Wheat (2) R, B, ﬁﬁ
(3) Soyabean, Corn, Rapeseed (3) SR, FTET, et (ﬂ'@ﬂ)
(4) Sugarcane, Corn, Mustard (@) T, T, et
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122. Which one of the following is a man made 122. fwfoRad # & 3= A 7Fa foffa =Ra

Greenhouse Gas? g 'ﬁ'\H a7
(1) CFC ' (1) CFC
(2) Methane (2) AeF
(3) Water vapours (3) el 9™
(4) Ozone @ ST
123. The influence of charged species on the rate  123. fRFFAT & T W ARG FRAT P17
of the reaction is known as - PHEAT & —
(1) Catalytic effect (1) SORE TG
(2) Salt effect (2) <9I wH G
(3) Gradient effect (3) IO N9
(4) Absolute effect @) fre T
124. The agreement of a specific practical value to  124. <t fafire yrifes #17 & Irafa® A kil
the true value of the result is known as - el T BT BEd o7 '
(1) Precision (1) wRg=E
(2) Accuracy (2) Temeiar
(3) Measuring scale (3) w9 SmrE
(4) Torque @) et e
125. Viscosity index of a lubricant is - 125. WE® P WAl GaHis & —
(1) effect of pressure on change in (1) TIFaT § uReads W) <9 B 9
viscosity
(2) effect of temperature on change in (2) TFEA § IRads W) d° B uEiE
viscosity
(3) effect of concentration on change in (3) T ¥ URadT W G B W
viscosity
(4) effect of freezing on change in @ T § uRaas W S BT 99h
viscosity
126. Write the IUPAC name of the following 126. fr=iferRaa Hife &1 IUPAC < faRag —
compound -
CH, —CH, ~CH-CH, _CHZHCT_CHZ —CH, CH, - CH, —CH—CH, —CH, —~CH-CH, —CH,
OH CH, OlH C£I3
(1) 6—methyloctan — 3 — ol (1) 6-3AR sffae — 3 - 3ifd
(2) 1-ethyl —4 —methylhexan—1-ol 2) 1-TR% —4 - AR T — 1 - it
(3) 3 - methyloctan —2 — ol 3) 3_#@3{31‘1-@:{_2_@'3{
(4) 1~ ethyl — 1 — methylhexan —4 — ol @) 1—TRE — 1 — 4RI TR —4 -3t
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127. The oxidising agent used in Baeyer Villiger 127. Yo% RRFR sifediaxor 3§ UgFR fFieRG
oxidation is - g -
(1) CsHs COOOH (1) Ce¢Hs COOOH
(2) KMnO4 (2) KMnO4
(3) HNO3 (3) HNO;
@ Cr0s @) CrOs
128.  Calculate the magnetic moment of a divalent 128. el fieras § R amE o ECCIC
ion in aqueous solution, if its atomic number IMEEf B o Hfg Tl EXCa MG L]
is 25 - AP 25 & —
(1) 5.92BM (1) 5.92BM
(2) 2.23BM (2) 2.23BM -
(3) 3.87BM (3) 3.87BM
4) 1.73BM 4 1.73BM
129.  Cement is formed by heating a mixture of - 129. a7 Ry T Fe ¥ e 917 & —
(1) Chalk and graphite (1) o 9 UBEe
(@) Limestone and clay (2) <SRN 9 T .J
(3) Graphite and clay (3) ABEE T T
(4) Graphite and silica @ IFize T R
130. In fullerene Ceo, all the carbons 130. FerdF Cood W BT BT
ALC..cvennnnannis hybridised. 2]
1 sp? 1) sp?
@) sp’ ) sp?
@) sp @d) sp
@ sp’d @ spd
131. An example of a simple fuel cell is — 131. HERY 69 el BT To SR & —
(1) Lead storage battery (1) <is Haas o
(2) Hz-Ozcell () H:-0, 9
(3) Daniell cell () SPre ¥
(4) Lechlanche cell ) @) dFier e
03-% Page 27 of 32




132. The order of stability of the different 132, WiETaRaH » = TEquil @ e
conformations of cyclohexane are - ] FH BT —

(1) chair form > boat form > twist boat ) @ﬁ ¥ > 46T BT > ARIS] Ahl |l
form i

(2) chair form > twist boat form > boat @) T w9 >R AP T > T T
form

(3) twist boat form > boat form > chair (3) TR ST F > HpT B > FH T
form -

(@) boat form > chair form > twist boat @ =it T >Rl B > WS AT T
form .

133. A wattmeter reads 25.34 W. The absolute 133. T® dfcdiex @1 Wow 2534 W 8| 0 A
error in measurement is + 0.11 W. What is fote R +0.11W | wifea o1 |WE H9H
the true value of power? T -

1) 2523 W (1) 2523W
(2) 2545W (2) 2545W
3) -2523W 3) -2523W
@) -2545W 4) -2545W
134. 1 - Chloroethane, when heated with alcoholic 134, 1 _ FARTST P o Uewia® KOH &
KOH, the product formed will be- wRT T far rar §, 99 SR g —
(1) Ethanal (1) v
(2) 2 - Chloroethanal 2 2- TFARNLATA
(3) Ethene @) N
(4) Methanal @) ¥
135. Which is a technique of solvent extraction? ~ 135, fr=iicrfes i ¥ 7 — b Roms i
Pl TEAD o7
(1) Batch extraction D ¥
(2) Gel technique (2) o THE
(3) Eutectic technique A3) W qHETE
(4) Hittorf's technique @) R aEw

136. Which of the following will have the least 136, friforRad § W fhaah goiaglT A TR
negative value of electron gain enthalpy? BT A AT TS BIT?

mre @aPp

2 S 2 S

3 A 3 Cl

@ F @ F
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137.  The quantum no. of six electrons are given 137, ©: SIEEI! @ Fareq TaT Sr g Bl
below. Arrange them in order of increasing % Sull ® 9gq B9 H Zafem Fifvw —
energies — 8 T
€ no. (D) n=4,1=2, m=-2,m=-%
D) n=4,1=2,m=-2,m=-% @ n=3,1=2,m=1,m=1+%
) n=3,1=2,m=1m=+% (3) n=4,1=1, m=0,m=+%
(3 n=4,1=1,m=0,ms=+% @ n=3,1=2,m=-2,m,=-Y%
@) n=3,1=2,m=-2,m=-% 5 n=3,1=l,m=-I,m=+%
(5) n=3,1=1,m=-1,m=+% 6) n=4,1=1,m=0,m=-%
®6) n=4,1=1,m=0,ms=-%
(1) 5<2=4<6=3<1
Iy 5<2=4<6=3<1 ) 5<2<4<6<3<1
@) 5<2<4<6<3<1 @) 2<5<3<1<6<4
3) 2<5<3<1l<6<4 4 1<2<3<4<5<6
4 1<2<3<4<5<6 "
138. Pitting corrosion is - 138. = (AfET) demo & —
(1) non-localized Q) =g
(2) localized 2) =R
(3) diverse 3 fafr
(4) uniform @ 9
139. Which of the following is used as an 139, faga xafe 4o § < o [ty Sire
electrolyte in salt bridge, which is used to el TqoT ag # e d A P faegm
. connect two half cells of electrochemical YT B H T &7
cell? .
(1) KCI, 1) Kkca -
(2) BaSO4 (2) BaS04
; (3) CaCO; 3) CaCOs
(4) ZaSO4 @) ZnSOq
140. Misch metals are - 140. o argl &5 € =
(1) alloys of lanthanides (1) <oFTEs 9 B g
(2) alloys of actinides (2) tfesss i M arg
(3) alloys of 3d transition elements 3) 3d HwHT Tl Bt s T
‘ (4) alloys of 4d transition elements (4) 4d Haor Tt o My o7
| 141. KYOTO protocol is related with - 141. e YEPe G6ta ¥ —
(1) Population control (1) v e )
(2) Greenhouse gas emission (2} ERTE I Soyel
(3) Pollution control (3) uguor fAEer
(4) Resource control (4) FarEFE e
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142. The green solvent used for bleaching is - 142.
(1) Hydrogen peroxide
(2) Tetrachloro ethane
(3) Benzene
(4) Toluene

143. Which of the following is not an aromatic 143.
species?

®
U

>
@ U

144. The rearrangement shown below 144.

A
R-CO -N3—I-K)->R -NH,

is an example of -
(1) Hoffmann’s rearrangement
(2) Lossen rearrangement
(3) Beckmann rearrangement
(4) Curtius rearrangement

145. The temperature at which conductivity of a  143.
superconductor becomes infinite, is called -
(1) Critical temperature
(2) Absolute temperature
(3) Mean temperature
(4) Crystallization temperature

146. Four metals A, B, C, D are having standard 146.

electrode potentials as — 3.05, ~ 1.66, — 0.44
and 0.80 V respectively. Which one of the
following will be strongest reducing agent?

@ A

2) B

3 C

@ D

faror ¥ wgda B dren sRa s § —
(1) EESoN WTgs

2) el WEE

@) I

@) TR

reffEg 4 € o9 @ Wit |ide
& 87

1)

U
2)
3® @

U
seitforiRaa gAfa=d

R-CO 'N3TA2(_)—>R -NH,
T IR &—

(1) =EEaT gad=amd

(2) wE gAfdE

(3) FPHT gl

@) =iEax [da™
I8 TIE O W U AfAATeIS B ATeThl
IFd & 9T &, FEonar § —

1) Hifds aaEE

(2) FRuer o

@) T TAIEE

@ frreaidRor agar

AR =gl A, B, C,D & AFS SoERiS favd
PT AN HHA: — 3.05, — 1.66, — 0.44 79 0.80
Vv #) fyafafag § 9 o 999 iftE ued
HATIIS BIIT?

1 A

2 B

3) C

4 D
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149.

R

r

150. The following structures are -

Which of thefollowing is not a coagulant?
(1) Ferric-sulphate
(2) Alum
(3) Scdium aluminate
(4) n-—hexane

Which of the following is not a source of ‘soil
pollution?

(1) Solid waste

'(2) Pesticides and fertilizers

(3) Effluent and sewage

(4) Vermin compost

=000 "

Consider the above three resonating structure
of naphthalene. The correct statement is -

(1) bond at 2, 3 — position has more
double bonds. character than bond at
1,2~ — position. .

(2) all bond Tengths are equal. . )

(3) bond at 1, 2 - position has miore
double bond character than bond at
2,3- posi_tion.

(4) 1, 2-bond length is more than 2, 3 —
bond length.

H CH,

HO —i—CH, pgo—=4—p¢
H—F—O0H H—F—O0H

CH, CH,
(1) Enantiomers
(2) Diastereomers )
(3) Identical
(4) Allylic isomers

ek sk skokokoiotskon

147.

148.

=fafes ¥ & v—a wwae T8 27
(1) $RF Fewe
(2) freasd
@3) wifeT Agiee
@) n-zRF
FrafeiRad # & Bi—ar 3a7-ugwer 1 i
T4 &7
(1) o uRre
(2) DIEAEE Td SRS
(3) sTEE 9 doe
@) e (@ @)

QO-00—00

ﬁﬁaﬂﬁ B ST A SIS SeeR

R o SIfg | wd wom & —

(D 2,3-ReIfy & 55 § 1, 2-Refy
e & SureT 3 v

() 4 9 P FaE G B«

B L2-9ad2 3-8 g 9
e fgeer ot &

@) 1,2-%% @ ¢idr8, 2,399 & dqT
¥ I &

150. f=faRag Waaw & —

X

H CH,
HO ———CH, yo—1»]—=H
H—F—O0H H——OH
CH, CH,
1) ufafew
(2) smifer BRw wHEgd
(3) wgw
@ fafes wwEad
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